Answers are displayed below to check your work.  Make sure to show all of your work to receive credit.

1) Mg + O2  MgO
What mass (in grams) of maxgnesium oxide is produced from reacting 2.00 mol of magnesium?


2) Given the following reaction:
3 NO2 + H2O  2 HNO3 + NO

How many mol of NO2 must react with water to produce 5.00 x 1022 molecules of NO?


3)What volume of oxygen gas is produced when 6.54 g of potassium chlorate breaks down to produce potassium chloride and oxygen gas at STP?


4) Li3N + H2O  NH3(g) + LiOH

a) What mass of water is needed to react with 32.9 g of Li3N?

b) When 32.9 g of Li3N is reacted, how many molecules of NH3 are produced?

c) Calculate the number of grams of Li3N that must be added to an excess of water to produce 15.0 L NH3 at STP.

d)  (
1) 80.6 g 
MgO
2) 0.249 mol NO
2
3)1.79
 L O
2
4a) 51.1 g H
2
O
4b) 5.69 x 10
23
 molecules NH
3
4c) 23.3 g Li
3
N
4d) 6.02 x 10
24
 molecules H
2
O
)How many water molecules must react to produce 10.0 mol of LiOH?
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